

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd  
 Company Registration number: 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

TEL: +27 11 746 4200  
 FAX: +27 11 422 5888

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

VAT Reg No: 4590177624  
 MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Shipping Instructions:  
 218

INVOICE TO: Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

DELIVER TO: Halewood - Linbro Park  
 Halewood - Linbro Park  
 4th Ashworth Street  
 Linbro Park  
 Gauteng  
 South Africa

29449



Printed on: 22/01/2025  
 at: 13:11:00

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1987244		22/01/25	22/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BELGINDLEM275MLNA	BELGRAVIA GIN & DRY LEMON NON ALCOL RTD NRB 275ML	CS	78	0	HH	112.38	8,765.70
BELGINTON275MLNA	BELGRAVIA GIN & TONIC NON ALCOHOLIC RTD NRB 275ML	CS	78	0	HH	109.57	8,546.42
CTSTRAWAT 275ML	CARIBBEAN TWIST STRAWBERRY & W/MELON RTD NRB 275ML	CS	78	0	HH	219.40	17,113.14
HBBLUETONIC24X200	HALL & BRAM BLUE TONIC WATER CAN 200ML @ 0%	CS	64	0	HH	88.11	5,639.21
WHITGINBORANGE750	WHITLEY NELL GIN BLOOD ORANGE 750ML @ 43%	EA	0	24	HH	129.71	3,113.09
BUFFLAGDRAUGHT30L	BUFFELSFONTEIN LAGER DRAUGHT @ 4%	EA	0	3	HH	665.00	1,995.00
HOBLANCNTARC250	HOUSE OF BNG BLANC NECTAR IN CARTONS 250ML @ 12%	CS	26	0	HH	730.44	18,991.44
HOBROSENECTARC250	HOUSE OF BNG ROSE NECTAR IN CARTONS 250ML @ 12%	CS	42	0	HH	730.44	30,678.48
BELGRAVPINGIN200ML	BELGRAVIA PINK GIN 200ML @ 30%	CS	15	0	HH	301.96	4,529.45
BELGRAVBLKBER750ML	BELGRAVIA BLACKBERRY GIN 750ML @ 30%	CS	104	0	HH	492.14	51,182.50
RSVODKAPAPPLE750ML	RED SQUARE VODKA PINEAPPLE 750ML @ 25%	CS	22	0	HH	417.91	9,193.91
BUFFELKOLBOEP275	BUFFELSFONTEIN BRANDY & KOLA BOEPENS RTD NRB 275ML	CS	11	0	HH	219.67	2,416.42
PEAKYBLINDER750ML	PEAKY BLINDER WHISKEY 750ML @ 43%	EA	0	636	HH	176.18	112,053.04
DMFRSRASPR440ML	DEAD MAN'S FINGERS RATTLE SNAKE R&R RTD 440ML @ 5%	CS	243	0	HH	273.68	66,504.31
DMFCOCONUT750ML	DEAD MAN'S FINGERS COCONUT RUM 750ML @ 37.5%	EA	0	41	HH	121.55	4,983.70

Seal no. 7442291 To 7442300

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd v/a Halewood South Africa  
Company Registration number 1998/001887/07

www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
APEX EXTENSION 1 FAX: +27 11 422 5888  
BENONI 1501  
PO BOX 2132  
BENONI 1500  
SOUTH AFRICA  
VAT Reg No: 4590177624

BANKING DETAILS:  
FIRST NATIONAL BANK  
A/C NO: 62889748368  
BRANCH CODE: 240129  
REFERENCE:

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 22/01/2025

at: 13:11:00

**DELIVER TO:**

Halewood - Linbro Park  
Halewood - Linbro Park  
4th Ashworth Street  
Linbro Park  
Gauteng  
South Africa

Shipping Instructions:



29449

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1987244		22/01/25	22/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
DMFDARKRUM750ML	DEAD MAN'S FINGERS DARK RUM 750ML @ 43%	EA	0	57	HH	139.52	7,952.50
DMFSPICEDR750ML	DEAD MAN'S FINGERS SPICED RUM 750ML @ 37.5%	EA	0	52	HH	118.09	6,140.92
APPELDARKRUM750	APPEL JAGTERS GEES DARK RUM 750ML @ 43%	EA	0	80	HH	153.66	12,292.53
BELGRAVIN1LTR	BELGRAVIA GIN 1LTR @ 43%	CS	10	0	HH	861.62	8,616.16
GELSBLENDWH1X750	GELSTON BLENDED IRISH WHISKEY 750ML @ 43%	EA	0	54	HH	180.57	9,751.04
DMFPINERUM750	DEAD MAN'S FINGERS PINEAPPLE RUM 750ML @ 37.5%	EA	0	10	HH	121.48	1,214.76
DMFCOFFEE750	DEAD MAN'S FINGERS COFFEE RUM 750ML @ 37.5%	EA	0	14	HH	140.65	1,969.14
HBCITRS24X200	HALL & BRAM CITRUS TONIC WATER CAN 200ML @ 0%	CS	23	0	HH	116.39	2,676.94
BUFFELBRA200	BUFFELSFONTEIN BRANDEWYN 200ML @ 43%	CS	13	0	HH	467.16	6,073.02
MUSGRVINORIG	MUSGRAVE GIN ORIG 750ML @ 43%	EA	0	3	HH	152.72	458.15
MUSGRVINPINK	MUSGRAVE GIN PINK 750ML @ 43%	EA	0	41	HH	155.60	6,379.43
MUSGRVAGPNK12	MUSGRAVE GIN PINK CASE of 12 X 50ML	CS	3	0	HH	304.36	913.08
RSENGY440MLTD	RED SQ VODKA ENERGY 440ML @ 5.4%	CS	162	0	HH	289.97	46,975.94
BELGINDLEM660ML	BELGRAVIA GIN & DRY LEMON RTD NRB 860ML @ 5%	CS	80	0	HH	245.93	19,674.03
DMFRSRASPR275ML	DEAD MAN'S FINGERS RATTLESSNAKE R&R RTD NRB 275ML	CS	78	0	HH	210.67	16,432.17
BLAAUWBEFAFT500	BLAAUWKLIppen BEFORE & AFTER APERITIF NRB 500ML	EA	0	14	HH	271.17	3,796.38

HALEWOOD

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd v/a Halewood South Africa  
Company Registration number 1998/001887/07

www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200 BANKING DETAILS:  
APEX EXTENSION 1 FAX: +27 11 422 5888 FIRST NATIONAL BANK  
BENONI 1501 VAT Reg No: 4590177624 A/C NO: 62889748368  
SOUTH AFRICA MANUFACTURING & DISTRIBUTION LICENCE: RG000275 BRANCH CODE: 240129  
REFERENCE:

Printed on: 22/01/2025

at: 13:11:00

INVOICE TO: Halewood - Johannesburg

Halewood International S A (Pty) Ltd  
61 Toronto Street  
Apex Extension 1  
Benoni  
1501

DELIVER TO: Halewood - Linbro Park

Halewood - Linbro Park  
4th Ashworth Street  
Linbro Park  
Gauteng  
South Africa

Shipping Instructions:

29449



CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1987244		22/01/25	22/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BLAUWCHENBL750	BLAUWKLIPPEN CHENIN BLANC WINE 750ML @ 12.5%	CS	1	0	HH	394.43	394.43
BLAUWSAUVBL750	BLAUWKLIPPEN SAUVIGNON BLANC WINE 750ML @ 13.5%	CS	4	0	HH	507.13	2,028.52
HASENRACHE275ML	HASENRACHE GOLD HERBAL LIQUEUR RTD NRB 275ML @ 5%	CS	78	0	HH	226.48	17,665.28
SKILPADTEPEL275	SKILPADTEPEL RTD NRB 275ML @ 5%	CS	156	0	HH	226.72	35,368.00
SKILPADGIN750ML	SKILPADTEPEL GIN 750ML @ 43%	EA	0	29	HH	156.85	4,548.71
BELGINDCHY275ML	BELGRAVIA GIN & DARK CHERRY RTD NRB 275ML @ 5%	CS	1,014	0	HH	204.31	207,169.47
DIVIDERBOARD-DISTRIBUTI	DIVIDER BOARDS DISTRIBUTION	EA	0	34	HH	5.22	177.48
PALLET	GENERAL PURPOSE PALLET	EA	0	34	HH	138.00	4,692.00

# HALEWOOD

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING 0 2,383 1,126

TRANSPORTATION: PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION

Any discrepancy between goods received and those detailed in this Waybill should be immediately notified. No responsibility accepted for goods signed for un-checked. Returns are subject to a 10% handling charge. Commercial quality equipment is not to be used for lifting applications.

VEHICLE REGISTRATION No: PRINT NAME: SIGNATURE: DATE:

CUSTOMER: PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION

Any discrepancy between goods received and those detailed in this Waybill should be immediately notified. No responsibility accepted for goods signed for un-checked. Returns are subject to a 10% handling charge. Commercial quality equipment is not to be used for lifting applications.

PRINT NAME: SIGNATURE: DATE:

SUB-TOTAL	ZAR	769,065.89
VAT	ZAR	0.00
TOTAL	ZAR	769,065.89

